


)

Neds &

AARAI AR TN




W



P s

(gs.'z)_

P48 025x3.8 =535 W

\

P < 18 O A5 x 2.2 = 8064 kd
Z

St’ 5"_4_. :.»{o\a\(

2
S <46 & = Fwd
L 2

J5ASw O25 4 dow (-15-.5) + Bl o5 + Fe(15-.03) =

p ot
- DZ 49.35x 3.5 4+ Aox 3.5 + 864 A + ?‘,té;_] =)
2
=) 966 = {.53.59_ ol = = 0.0%%F



Ea
—tr
\

PR -
fqﬂz)a;xw?@g@ggy:z%ﬁm

o 45x4;>§>x5%,;°5+‘§ﬁx£.3?3&2:§ -.-».é&é%’

i s
Z \l
) (<. (183 - ~ 2 isxSox(4ed-25) =
1; = Jooxld | Aceel &> (‘zé&ww?.ﬁjws UX__{S%«— ( o
\2
, A
. fLseo A =4 T
Mw) *A <Ce= By, 4., - 7250 (@.3-10)
G Né = -~ J0C koo
e
% . M, = =Jox (O.qe'i?uo‘zo)a-'akiw
: €
[ Y\O‘ s E ‘m23
S o.ozexlel L 21 9§ = 0.1 - C.col1 23
* 7250+ e PIvAL- wll

| 04323 _ o \mw
me&> 3 8 o.ecc\l?



Non RICH IS ST

IN TRACCIA

o A A A
by = —0333 —O.eeliTlx 66T = — O 66

N

. [
ot Faa s

Zow 2% (_t%) = 0.b6% i_L

= - (377 - O.clle?

o AR M

C -2? opterans R M. T .. xcﬁé Ab = Aae

BY: e ) o Kr Sez TieS\ersnle

»




